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Exercise [rank 6]

Given the set of strings S = {abaa, abca, abma, baa, bbb}, build a Patricia trie and show the steps for the lexicographic search of the strings P1 = aaa, P2 = abb.
Exercise [rank 6+3] 

Given the sequence of integers (11, 14, 16, 19, 20, 21, 22), show how to encode them based on 

· Elias-Fano Code
· Interpolative Code (just one level of recursion, hence 3 numbers)
Exercise [rank 6] 
Given the string S = abababc show the result of the full bzip pipeline.
Exercise [rank 6] Given the string T = aba, and the probabilities P(a) = ¾ and P(b) = ¼, show the result of the Arithmetic Coding applied on T. (hint: Please work with the dyadic fractions, not change them into reals.)
Exercise [rank 3] Given the tree (1,2), (2,x), (2,y), (2,z), (1,3), (3,u), (3,v), of internal nodes {1,2,3} and leaves {x, y, z, u, v}, apply the transformation Euler Tour ( Sparse Table and Prefix/Suffix Arrays to answer in constant time lowest common ancestor queries between pair of leaves.
